m B Al B K S IE R

(B750)
o % B BE(Ke) R B & B E(%) FHEE
1 x ¥ ~ Y 265, 393 13.4 5 23,097, 500 4.4 81
2 | b ~ ~ 239, 096 12.1]) 1 67,293,212 12.9 281
3 = L : A 168, 327 8.5 17 20,016, 115 3.8 119
4 & w 3 Y 121, 258 6.1 2 33,001, 046 6.3 272
) = el E 117,950 5.9/ 10 18,814,034 3.6 160
6 I A C A 110, 833 5.6 8 19,375, 644 3.1 175
7 11X n v L & 97,212 4.9 25 6,697, 445 1.3 69
8 5 % 5 2 L 97,035 4.9/ 6 21,321, 256 4.1 220
9 | L 3 A 91, 544 4.6 15 11,790, 241 2.3 129
10 |72 ¥ 76,116 3.8 4 21,093, 633 5.2 356
" E — < v 10, 653 3.6 3 30, 889, 493 5.9 431
22 » & 5 * 04,959 2.8| 18 11, 526, 066 2.2 210
13 H =3 90, 992 2.6 9 19, 040, 758 3.6 373
4 » A L & 40, 430 2.0 16 11, 660, 922 2.2 288
15 | & < & (A 37,300 1.9 33 3,663, 900 0.7 98
16 | Z (F 3 32, 856 1.7} 30 9, 584, 086 1.1 170
7m, = = b+~ < F 24, 280 1.2 11 14, 647, 156 2.8 603
8 7 o v a3 ) — 22,313 1.1 21 8,719,379 1.7 390
9 F 5 A £ 5 18, 022 0.9 17 11,618,080 2.2 645
20 < ES D 3 11,712 0.9 31 9,456, 749 1.0 307
21 7 N n &3 15, 480 0.8 29 9,991, 320 1.1 361
2 2 o & £ 7 14,243 0.7 37 2,450, 333 0.5 172
23 | L & C 13, 260 0.7 28 9,169, 895 1.1 435
24 | |2 5 12, 831 0.6 20 9,147,091 1.7 113
25 Ly A IF A 12, 648 0.6 14 11, 859, 941 2.3 938
26 7 R /N T H R 11,908 0.6 19 11, 386, 513 2.2 956
21 | I A bt < 11,678 0.6 12 14, 409, 262 2.8 1,234
28 L & 5 M & 10,573 0.5 23 1,256, 024 1.4 686
29 £ L W = F 9, 608 0.5 24 1,244,688 1.4 154

HRE HRBLUEH 20224 1A% ~ 2022 1A% 1



(%)

o % B BE(Ke) [WEG B & #E E(%) FHRE
0 | b [+ E 8,940 0.5 26 6,310, 731 1.2 106
3 | & - 8,485 0.4 34 3,010, 299 0.6 355
32 #F 7 7 1,943 0.4 22 1,498, 591 1.4 944
3| F ES 3 AN 1,251 0.4 36 2,623, 347 0.5 361
| F v U A 6,828 0.3 39 2,089, 098 0.4 306
% L 1) — 6,817 0.3 38 2,385, 396 0.5 350
36 | B % 6, 507 0.3 35 2,889,171 0.6 444
37 A 9,383 0.3 48 846, 219 0.2 157
38 > ) o, 006 0.3 41 1,843,128 0.4 368
39 | % 12 F & 4,976 0.3 32 4,012, 363 0.8 806
40 X =3 3,329 0.2/ 13 12,270, 138 2.3 3,686
a1 | H & 3 AN 3,171 0.2, 21 6,132, 532 1.2 1,930
2 & o &F & 2,631 0.1 49 842,508 0.2 320
43 | » W b h 1,925 0.1 54 580, 619 0.1 302
4 h A - A 1,862 0.1 42 1,454,220 0.3 181
4 | L € 1,648 0.1 52 114, 065 0.1 433
46 | v + B = 1,503 0.1 53 646, 951 0.1 430
4 1% F o w3 1,452 0.1 45 1,184,328 0.2 816
48 £ — S 1,401 0.1 43 1,409, 745 0.3 1,006
49 | X t ) 1,087 0.1 50 166, 368 0.1 105
5 | = & Ly % 1,043 0.1 51 156, 864 0.1 126
S T ® X A E S 932 0.0 46 1,004, 648 0.2 1,078
52 b o & & 5 930 0.0 62 215, 460 0.0 232
23 V7 3 7 — 824 0.0/ 60 243, 648 0.0 296
5% L L&ESHBL 185 0.0 44 1,287,026 0.2 1,640
%5 | & 4] 652 0.0 40 1,973, 841 0.4 3,027
% L » A F < 997 0.0 57 369, 544 0.1 619
57 | B A~ A4 ¥ 062 0.0 56 476, 992 0.1 849
98 | F L = [+ 925 0.0 59 347, 349 0.1 662
¥V T ¥y v L v b 507 0.0/ 55 963, 220 0.1 1,111
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o % B BE(Ke) [WEG B & #E E(%) FHRE
60 12 A = < F 352 0.0/ 58 399, 212 0.1 1,009
61 z =) & 316 0.0 64 203, 623 0.0 644
62 | Y 7 3 271 0.0 65 165, 297 0.0 997
63 Y v al-—L 231 0.0 61 224,254 0.0 N
64 | @ El | 197 0.0 63 209, 520 0.0 1,064
65 | /N = 8 181 0.0 47 902, 899 0.2 4,988
66 = A & S W 180 0.0 66 90, 288 0.0 202
67 | D x £ 110 0.0 7 13,424 0.0 122
68 D [+ 3 69 0.0 69 50, 868 0.0 131
69 & S5 H»N B L o0 0.0 68 08,718 0.0 1,176
70 5 E 24 0.0 72 11, 664 0.0 486
n X | 22 0.0/ 70 49, 478 0.0 2,249
2 b < (6} 8 0.0 67 67,878 0.0 8485
B Y 4 0.0 73 7,193 0.0 1,798
T T 0ot ] X8 11,837 0.6 1 3,587, 004 0.7 303
2 TOMEEXRSE 4,101 0.2 4 138,942 0.1 180
3 ToMEDE 2,071 0.1 3 1,277, 601 0.2 617
4 TDMEFOEYER 861 0.0/ 2 1,813, 196 0.3 2,106
S % ot £ Y O#E 135 0.0/ 5 219,990 0.1 381
6 & o fir FH X o6 0.0 6 106, 236 0.0 1,897
7T & o # R X & 34 0.0 7 12,922 0.0 2,145
8 ToMmE BB X o 0.0/ 8 1,242 0.0 248

Fr ES & 1,983,925 | 100.0 523,463,706 |  100.0 264
(R

o % B BE(Ke) [WEG B & E(%) FHEE
[ Ly A 1,265, 153 62.7 1 343, 170, 540 43.1 2N
2 & % & 263, 720 13.1) 2 180, 538, 998 22.17 685
KIPAN A EA 150, 098 1.4 6 32,422, 241 4.1 216
4 1H N A & 85, 022 4.2 3 13,919,175 9.3 869
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e % B BE(Ke) [WEG B & #E E(%) FHRE
5 Y A C H 15,520 3.7 4 39, 875, 857 2.0 028
6 A 0O v A 13, 642 3.6 5 35, 810, 235 4.5 486
1 TJL=TIL—-Y 22,338 1.1 10 6, 144,908 0.8 215
8 |7 % &3 19,128 0.9/ 9 14, 509, 336 1.8 759
9 A E S H 14, 858 0.7 17 29, 631, 808 3.7 1,994
10 & 3 & 3 12,313 0.6/ 8 19, 925, 352 2.5 1,618
nmi a4 v7y 7L 8,105 0.4 15 2,050, 106 0.3 253
12 | b E % 1,992 0.4 11 3,420, 868 0.4 451
B, Fo42721L-Y 0,441 0.3 12 3, 358, 206 0.4 617
14 NLooT7HLoY 4,520 0.2 17 1, 836, 021 0.2 406
15 AN L &t 3,995 0.2 13 2,138, 664 0.3 692
6\ 5 5 < 1,710 0.1 14 2,132,702 0.3 1,598
miw 5 Z H 121 0.0 16 1,981, 800 0.2 2,749
B ix 2 5 U v 200 0.0 18 205, 200 0.0 1,026
1 T OERFERTRRE 3,034 0.2 1 1,721, 309 0.2 969
2 = o M B = 830 0.0 2 818,978 0.1 987

S = & 2,017,906 100.0 796,818,304 | 100.0 395
(SO0, T &)

o % B HE(Ke) RO TH & (%) FHE
T % © L 21, 360 60.1 1 3,315, 657 32.5 121
2 5 O H 1,502 6.5 2 2,294,165 22.5 306
3 2 v o & 861 1.9 3 486, 918 4.8 966
4 12 A 12 » (< 086 1.3) 9 149, 904 1.5 256
5 3 e & 3 189 0.4/ 7 123,073 1.2 651
6 = ®oZmIm 184 0.4/ 6 136, 596 1.3 142
1 = Xk & 137 0.3 4 221,292 2.2 1,615
8 U1 F £ W 2 A 22 0.0/ 8 35,748 0.4 1,625
9 X 2 4 16 0.0 9 23,490 0.2 1,468
0 F L W = 2 0.0/ 10 11,016 0.1 5508
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(SOR, MITM)

e 5 E] HE(Keg) k=@ =¥ 2 25 bbEe (%) THE
JIE {32 [[EYiva
1 FoOMmT B =E 4, 928 10.8 1 1,797, 952 17.6 365
2 F O b m I & 1, 783 3.9 4 434, 209 4.3 244
3 F 0O T B E 1,596 3.5 3 488, 490 4.8 306
4 FOEBERE 246 0.5 2 571, 206 5.7 2,346
5 0 i Fr g R 78 0.2 5 106, 380 1.0 1, 364
E . MI&SE 45, 490 100.0 10, 202, 096 100.0 224
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